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Data Entry k RN
(1) Use 'House' IPL . 3 Terminals available

(2) Load member 'YASID!

(3) The 1st Screen for record J'101' will appear first and once the entry
of data at the feild 12(x) is over, second screen for E?COP@ 102!

€§ appears @utomatically which takes dzta upto 12(xix)bi£fg§ end
position of the 2nd screen “1' is keyed the st screen reaspears which .
can be for records 111 or 121 or 131 or 141 er 151 or 161 or 171 or
181 or 191 depending on the filled line of the question 12. of the
schedule, after which the corresponding second screen will conme

automatically.

(4) When going to question 13 of the schesdule key '2' at the l:st position

of the last 2nd screen keyed,
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After this uptp the end of the schedule required acreenswill appear

automatically.

(0) Feilds mumbexs 1 to 10 have to be entersd only iu the 4st screen
for the record type 101 and in the remaining screens for the rest of

the records they will be duplicated automatically.

(7)For datz in question 12 line 9 & 10 the record type always will

be either 1€1 and 182 or 191 amd 192. But for the lines 1 tp &

=

the record types will be in a consecutive order,
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